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Cost Benefit Analysis Guidelines for forest land diversion-2017

WEER UM gee AW @ Ird oege el Tedd @ MR fRemwave d
AR-FAS-begard Aiex 7t & fiflo 1500 | vreia W@ i fdwo (15675 o)
@ 7 fmfor 87 A SR yRad |

Table A : Cases under which a cost benefit ratio analysis for forest diversion are required

SI. Nature of proposal Applicable/ Remarks
No Not

applicable
1 | All categories of proposal involves forest land | Applicable 9.8875 Ha

upto 20 Hectares in plains and under 5
hectares in hills.

2 Proposal for defence installation purposes Not NIL
and oil prospecting (prospecting only) Applicable

3 | Habitation establishment of industrial units Not NIL
tourist lodges complex and other building Applicable
construction.

4 | All other proposals involving forest land Applicable 2315.40 lacs.

more than 20 Hectares in plains and more
than 5 hectares in hills including roads,
transmission lines, minor, medium and
major irrigation projects, hydro projects,
mining activity, railway lines location specific
installations like micro-wave stations, auto

| repeater centers, TV towers etc.
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Table B : Estimation of Cost of forest diversion.

==
Sl.no. Parameters Remarks
1 |Eco system services losses due to proposed forest| To estimated NPV of the 9.887 ha in forest
diversion land Rs. 83.54 Lacs
2 |Loss of animals husbandry productivity including 10% of NPV = 8.35 lacs.
loss of fodder
3 |Cost of human resettlement NIL
4 |loss of public facilities and administrative There is no loss of public facilities and
infrastructure  (Roads,  Buildings, Schools,jadministrative infrastructure.
Dispensaries, Electric lines, Railways etc.) on
which would require forest land if these facilities
were diverted due to the project.
| 5 |Possession value of forest land diverted. 30% of NPV = 25.06 lacs. =X
6 |Cost of Suffering to oustees NIL
7 |Habitat Fragmentation Cost 50% of NPV = 41,77 lacs. e
| 8 |compensatory afforestaion and soil & Moisture The estimated cost for raising the CA in
conservation cost 19,774 hac. Is Rs. 45.53 lacs. For 10 years
considering discounting rate 12% for future 50
years the present value is Rs. 78.316 lacs.

Total cost invested in project
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2315.40+237.05 = Rs. 2552.45

ot O

fowHostioTwoars, Riodo—2

MovrowovHoarg, Rio@o—2
T8 fREd



Urey—29.2

W TM WSE AW B i oe feRdl Teae @ MR Remwvs §
TIPR-GATcSI-Phegare dex At & fiwfto 1500 | wrema W@ ywara ffo (15675 o)
@ 79 fior 8g T swaraRer v |

Table C : Existing guidelines for estimating benefits fo forest diversion in CBA.

Sl.no.

Parameters

Remarks

Increase in productivity attributable to the
specific project.

Distribution lines/transformers will be transmit the Rs.
14.892 lacs unit of electricity per year considering Rs 2.30
per unit as a profit for 50 years 14 .892*50*2.30 = Rs
1712.58 lacs.

2 |Benefits to economy due to the specific Project will be enhance the agricultural, commercial and
project industrial activities energy generation. 1712.58 * 4 = Rs.
6850.326 lacs
3 |No. of population benefited due to the 300
specific project
4-  [Economic benefit due to of direct and About 720 men days (40*18) employment will be
indirect employment due to the project. generated directly taking Rs. 40 * 18 * 400 = 2.88 lacs.
And skilled development will generated = 5 * 500 * 18 =
Rs 45000.00 so telling total minimum wage (2.88 * 0.45) =
Rs 3.32 lacs
5 |Economic benefit due to compensatory The annual value of Timber and fuel wood carbon NTFP,

afforestation.

Eco tourism, Fodder and watershed services from CA is Rs.
47292/annum. Considering discounting rate 4 % for future
50 years, the present value = Rs 3.32 lacs.

Total benefits derived from the project

Benefits cost ratio
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8569.54 lacs.

8569.54/2552.45 = 3.36
=336:1
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